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Fourth Semester MBA Degree Examiqation, June/July 2023

International FinancidlqManagement 
..

Time: 3 hrs.
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2a.

Note: l. Answer any FOURff!,,{ryesttonsfrom Q.N?.l tp Q.No.7.
2. Question No. I i*wonipulsory. -, "" ( .-

What is SWIFT mechanism?., ..':,.,*;1 I 
(03 Marks)

Explain the types of disequilibrium in balance of payment. ,' (07 Marks)

What is fixed exchange rAteiegime? Briefly explain Gold Standard, Brelton Woods system

and S mit hso nian agreempj$.

b.
c.

'

Following quotes are,aVailable :

Rs.78.99/Rs.79.25 per US $

Rs.82.25l Rs82-S64'Per € 'l '
Identify W*U"v" quotes and calculqte tke corresponding quote. (03 Marks)

Explain'tllBparticipants of Foreign.Sffiange Market. ,.,1+:.: (07 Marks)

The fi$llo,,ying quotes are given Qt' tsche Bank: 
.;t.;.,:,

Spot$ 0.2479 - 8l = l€ *.
I month forward: S3/5 * ,,*,* j .

3 month forward = $8/5 " "" rh EY

6 month forward : $13/10 '*q*

(i) What does this mefln in terms of $/€?.rl@ j I
(ii) If you wish to buy spot Euros, how much would you pay in bollars?
(iii) If you wish to purchase, spot Dollars, how much woul4 you pay in Euros?
(iv) Calculate.foiward premium or ffseiiunt percentage assuming you are buying Euros.

a. Write,a'$hort note on ADR:aad;@DR. , (03 Marks)

b. An importer has to makg a-qayment of I million Thai Baht to its trading partner in Bangkok.
The currency quotes available are

':Iil lndia 1$ : 48.0843")W8.0996 INR
:,...:::::':I" Thailand 1$:42940A I 42.9600 Jhai8aht

What is the amoupt 6f bill payablegffims of Indian Rupees? (07 Marks)

c. Explain abgyi,"&itrerent Internatiffi Financial Instruments available to raise funds in
foreign mai,'li'Stsl" * (loMarks)

4 a. Differentiate between porwsr.d and Future.

b. Explain different metho$fuqFdoing International Business.

c. Interest rate in UK is 3% ind in India it is 5%. The spot rate is 1€ : Rs.75. One year forward

rate is 1€ : Rs,Q$",,* there any opportunity for Covered Interest Arbitrage? Assume the

Arbitrager can'bffiow €1000 or Rs.10,000. (10 Marks)
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b.

c.

What is Swap agreement?
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(03 Marks)
(07 Marks)Explain purchasing power parity theory.

A foreign exchange dealer has provided the following information:
Value of Canadian Dollar in USA: $90/CAD
Value ofNewzeland Dollar in USA: $304$Y$
Value of Canadian Dollar in Newzelaft$,,,pollar = NZ$3.02ICAD i::i

On the basis of above information-i*: Triangular ArbitTg" po_s.qfihtfi,l I.f.yes, explain the steps

that would reflect triangular arblqqsedAko calculate the pro;flt",,&pm this strategy if you have

$ 15,00,000 to use. $ (10 -Vlarks)

t'-
.,*

b. Interest rate in UK,.;..$0%, in India l4oh, spot rate I€: Rs.103. Calculate 30 day, 60 day

c. General Motors'(US MNC) is planning te,{{i,stall a manufacturing plant to produce 500,000

units of autohqtiie 
"ornp*nis 

in India.'fhe plant would cost Rs.50 million. The plant is
..::!::.. i

expected:to='ha{re a useful life of 5.years with Rs.10 million as salvage value. The MNC
would $ii6w straight line method qf"depreciation. The firu*,,also ne_9d1RsJ million towards
*orkftryfucapital. Selling price;'"fu6pr variable cost per.'uriit will. be ry.70 and Rs.20

respectively. Additional fixed 
"o;d'pLr 

annum is estimffi 5t Rs.2 millionr,The MNC will be

subjected to 40%o tax rate in Irtdia and required ratep,,Jtefurn is 157oi*Itrls forecasted that

rupee will depreciate with,weiupect to US $ at 39'o4pei annum with initial exchange rate of
Rs.64l$.
(r) Compute NPV for thb project propospl ' .'...

(ii) Advice the Geneial Motors regarding tte feasibility ofthii$thject. (10 Marks)

#Ir jI d ,"'*
7 a. Explain the meldtionship between'@ort, export a$gh"appreciation and depreciation of

b. 
"d;il-**&s 

Ltd. is exportiffi,*{gii articles at $50'Whch and importing 100 units of material

for €IG'each. The comgrffi$urs other vaajab expenses of Rs.20,000. At the time of
#t /'S!" ro '{

ente$ing into contract tlte Rg.0Z per US $ p-rid'$'the time of export the dollar value Rs.65/$

,.*' fiile Rr./€ at the time of order is Rs.72l€ and at the time of import it is Rs.76l€. Calculate

'*'"''.iransaction exposurepf .tdani Expoq. 'rrl (07 Marks)

c. Company A grd.B hhve been offer,q"d following rates per annum on a $20 million 5 years

loan. *.,,

Comoanv Fixed,Rat€ Floatine Rate
A
B

1qrydlu,
,ia..iut

LIBOR + O,IYO

LIBOR + 0.60/o

Company A requires floating rate and B requires fixed rate. Design a swap that will net a
bank acting as inteifiediary.charging0.lo/o p.a. as commission and make the deal attractive
to both the partit$: (10 Marks)
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in 180 days
itself against

(r) Forward Market Hedge
(ii) Money Market Hedge
(iii) Option Hedge
(iv) No Hedge(lv) No rrecge m:*=
Its analysts develops the fo-lldpffi information:

"&- 1+ W
"tu{

Current sport rate l€ =$q#
180 days forward rate li= $1.48

Interest rates are:

UK USA,
80 daffiposit rate
1 8O.,il&vs 6orrowins rate

4.5%
5.r%""

4.5%
3.lo/o

k. "*\
The co.mpany also has the foffitffig information call option on pounds that

expires in 180 days, has an exerpise price of $1.5 a@' m of $0.02. T[e future spot rate
-^-.t- t 4- r-rr---.-.80 days are forecaste$kfufollows:

Possible outcome Trbbabilitv
$1.44 4" d
$1.46q+,*,li*+

$1.#"u

20%
60%
20%

Err

for 180 days are forecaste*#fufollows: 
".e

Y'

&tu.. &

M;'
51r- ffi

]M-1

Required;.i.. 'ti;s*u 
-,-'+ryeffi*(r) R@mend Hedging ffipiOr" for DC Corfumflbn.

(ii) , 
" 

the consequ@ fuffNo Hedge. (20 Marks)
*"1
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